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Crossover design example
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> cross = read.table(file="D:\\drrl2\\stat222\\weeké6\\crosspl37.dat", header ='T)

> head(cross) lo s
id time trt co vy o bc)‘JJ C+$ 2 ‘{w-f-b

1 1 ~1 "1 o0 24

2 1 2 2 0 5

3 2 1 1 0 23

4 2 2 2 0 8

5 3 1 1 0 19

6 3 2 2 0 3

> attach(cross)

> craov = aov(y ~ as.factor(time) + as.factor(trt) + Error(as.factor(id)))

Ahova Medel 4 0%

> summary(craov) (0 | M 9Q
NS

Error: as.factor(id) L

Df Sum Sq Mean Sq F value Pr(>F)

Residuals 9 189 21

Error: Within
Df Sum Sg Mean Sq F value Pr(>F)

as.factor(time) 1 9.8 9.8 2.42 0.158
as.factor(trt) 1 1548.8 1548.8 382.42 4.86e-08 ***
Residuals 8 32.4 4.1

Signif. codes: 0 ‘**x’ 0,001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 * 1

> sqrt(382.42)

[1] 19.55556 & & o —G»\:c:J e—éﬁtfc‘}; 1mn SAS

> #matches ALA slide 144, no carryover assumed co = O
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